TGT SANSKRIT
1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?

(A) Amit Shah

(B) Piyush Goyal
(C) Kiren Rijiju

(D) Giriraj Singh
Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 20227

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students
Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder

Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted children?
(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer: (B)

7. “F; STHHATH WEfd | 7 e T ST aTed aiadH e -

(A) T SATHHSATH QTerd
(B) T STHGATH WTad
(C) AT ATHHATH QT
(D) T STHHATH TTed

Correct Answer: (C) o STH®SATH @Ter=
8. ““ wfer 7 roqexr qetan fawfeh: ST st s - |1 v —=------- o uar s w0t |

(A) Hdl:
(B) 7ean
(C) Te:
(D) ¥
Correct Answer:  (B) 7em



9. ‘ot ug:” tErgiRd faueer queaus R ?

(A)9Te b8,
(B) AT 92
(€)= Tg.
(D) arg;

Correct Answer: (B) dTeg,

10. “* TTEARINEEATRAE_ e 3id dew fomE yedtaesheay e -
(A) TR T Y=\ =
(B) ST Y= T

(C) [T 9 Yaeqd o
(D) @R 9 Yeee 9

Correct Answer: (C) IR & Ya=HN o

11, o e 31 oredlt i Pargiohdues Sehfd-Sea forvsaam -

(A)Te + forfq
(B) e+
(C) dAfea+aiq
(D) T+

Correct Answer: (D) Tg+81q



12, 3ferdt fovifth Spsar AR st T I o

(A)TE

(B) T&T
(C) e
(D) &=

Correct Answer: (D) T’

13. RSt TS ARl T - e e, —------- (ST+YSHT ) W e

(A)Scath

(B) Scaiferg
(C) Seatsig
(D) 3cagH,

Correct Answer: (D) &g

14, “TATH TG A, AT T Se Ao “S=m 9ee foreqae fom ?

(A) St
(B) ATF=<HTH
(C) Ty
(D) Ao,

Correct Answer:  (A) Sfiaq



15, 3T o7 I THIE A = & SO WAt |7 3 ‘vidta’ 3id fraraee squd e ?

(A) STt
(B) @97
(C) &fa:

(D) I

Correct Answer: (C) &f:

16. Y& ARl forgd -
(A) TEH FoaITdT e T
(B) T&H TaTd GauTi &

(C) T ToaIRTe e aon
(D) TH_ TR G &1

Correct Answer: (B) T Ts=ITd GavTii &eTi

17, “ommmmmmmmmmmees » o sraiven v R Sferd wd ferca A g

(A) ToTET
(B) TH

(C) T
(D) T,

Correct Answer: (D) T#H



18. FIBHFTAY 9T 31 qar ferfere et qead- (s ar=a)

Correct Answer: (C) fr=a=d

ST
21k TfScal T, T Forgd -
Ty =TT | wEEET T e R,
JTrTeT e 2 |fea e wdsty Sage)
4 9 ueafy a8 % Al A Sfe S e
19. T & |f=a ?
(A) ST
(B)@d
(C) oI&;
(D) ST

Correct Answer: (D) 3TFIaT;



ARG, =ee qfdean T Iawivr foed —

HITHIT o= q WA R 360 | 376 Yavrer efifsh Hiwed feret trepdafc | wense gfvrsar: e
39 A | AR, 3T ToRTRT TUTG, | STRTRT o STaehtelian TsarT | TRfie foaear e a2
FA | 3T R FH T @l | el = - femdemT-gre-amaernty Shm-figi-
HATAATH T I FHIRHI 3T aeiish Fatd | FRHET el © Soietsh ~ foerd | I degf.
quit: et (HOUSE BOATS) wieshwr: st I=sf=d | ¢ Soieterd * 3wad: farerent
four-shest forerd | o wed vy ‘= foAm ” ek st ¢ fueRfer Torer | wHiY T Aee -
SN THHHT HEg, - AHCehsH | IARHEeIq feitd 3w 350 ¢ % * Ui siertrerii-etd 1y
TR | SFmTergRt ot Wieg dhefvere 1t 1R @ wout andd | awqa: ot e e
Wil 58T 4 |

20. foh cfreferery 1fme wemt wftrgH ?

(A) ferm,

(B) TTSHI=RIHATGT]
(C) STHTTIH
(D)= feAm

Correct Answer: (C) 3T



